= o
N & o & AF & H A A
20149 S0la LA IME X
AN FHMEHD
Bu: (AR B
Sl XX 25 0lurAs (S &2)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
ZHE 23,513,735 15,976,617 7,537,118
= 5,435,245
& 11,429,000
< 6,649,490
ANSEEH 2 st 17,337,593 13,415,149 3,922,444
= 34,764
& 11,429,000
< 5,873,829
NSAFH edst Jerd st 280,200 269,700 10,500
ANAZHSSE=HE2SF 35,000 30,000 5,000
403 A X EHHS =0l A 35,000 0 35,000
02 I 2SO0l CH&HCH & AF & HI 35,000 0 35,000
OXNZZHset=4E8 2SN 35,000
ANSZHELSH R 86,700 91,700 25,000
201 Le-2E| 23,400 23,400 0
01 At 2t 2l 23,400 23,400 0
Oget=gHl 22,000
- LEHH &= H| 22,000
O= &l 1,400
-NeZHegds=a 1,400
202 odl 2,900 2,900 0
01 = LH Yl 2,900 2,900 0
OZMEHFA 2,900
203 R =&l 60,400 65,400 25,000
03 Al Z=XH R =AY 60,400 65,400 A5,000
OXNEZHELds dRFH 60,400
=2 ¢ S3A 3HEY 29 88,000 88,000 0
307 21201 A 88,000 88,000 0
02 2B AEXS 88,000 88,000 0
Os=s & s34 ZHEE 2EXE 88,000
o FHuns 29 50,000 50,000 0
307 21201 A 50,000 50,000 0
02 B AEXS 50,000 50,000 0
Oz8 AMus 2FX2 50,000
s Es 2Y 10,500 10,000 500
403 UHXSHHSA=0l& 10,500 10,000 500
02 SJ1 2 S0ll CH &HCH & AF 2 HI 10,500 10,000 500
OFE=L sttdZE2s 23 10,500
EXZMN A2 10,000 0 10,000
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SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
403 ItXIHXMSA201 & 10,000 0 10,000
02 2| S OICHEHTH &AM b 10,000 0 10,000

OS=3 Mo X ZH 223 stotsSUa 10,000
LA ZOIXA 3,300,000 2,936,000 364,000

AATO MAEA 10,000 10,000 0
307 212t0| & 10,000 10,000 0
02 Q2FNMEXZ 10,000 10,000 0

Os=Eaaaz3oxd 2HAA 10,000

ESESNEEBSWE =A 500,000 0 500,000
306 EH= 500,000 0 500,000
01 &9 =2 500,000 0 500,000

Os=EdEETNE 202 500,000

Halg 9 1,208,000 1,276,000 A 68,000
306 9= 1,208,000 1,276,000 A 68,000
01 &9 = 1,208,000 1,276,000 A 68,000

Qeialg &9 1,208,000

AMSOEHRS 0IHEA 1,550,000 1,550,000 0
403 ItXIHXMS K201 1,550,000 0 1,550,000
02 BII2SOCHSCHE AL I 1,550,000 0 1,550,000

Oaxdzos4Xia 0IXEA 1,550,000

gdsXg 243 =& 32,000 0 32,000
403 ItXISHHSA201 A 32,000 0 32,000
02 2J| 2 S 0l CH St CH & AFR H 32,000 0 32,000

O8sxg 843t =& 32,000
St & AHIUES 127,519 111,729 15,790

= 34,764

T 92,755

SIHLZLIEHA 24 33,396 31,575 1,821
301 dEtE A= 33,396 31,575 1,821
M IIEtE A S 33,396 31,575 1,821

O2II2LIEHA B4 33,396

OlsAdlMaEdy 2 3,239 3,239 0
301 dEtEAZ 3,239 3,239 0
11 IIEtE &2 3,239 3,239 0

O0ISAHMENMEH 2SI 24 3,239
NgAHMEMEH 2X 14,244 13,875 369
= 14,244
307 212t01 & 14,244 13,875 369
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SRS ESEan)

MM NEHH 235
R MSAZE 243 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O&= MSAIE &3 &I A& 12,000
HMEANE AMESUHSAL 13,040,954 9,682,800 3,358, 154
2 11,429,000
= 1,611,954
403 XX SRS R 20| & 13,040,954 9,682,800 3,358, 154
2 11,429,000
= 1,611,954
01 MXSHHEE X 13,040,954 9,682,800 3,358, 154
ONSAE ANESHUHSAIE K& 13,040,954
2 11,429,000
& 1,611,954
S E AR BIX 0 20,000 15,000 5,000
307 2Iz2to| & 20,000 15,000 5,000
02 QIZ2tAAE X2 20,000 15,000 5,000
OZ2UWHAEAIE diIlX 02 0
O=22 H&TAE #HXOHY XA 20,000
E= 5AHE 2EE oA 80,000 80,000 0
307 212t0| & 80,000 80,000 0
02 AN EXS 80,000 80,000 0
O A3 HEXNF(HE) 80,000
SINOIMEE MOXXN SHAMY X 9,000 9,000 0
307 2Iz2t0| & 9,000 9,000 0
02 It A X2 9,000 9,000 0
OSizoltas HOIXE SLNY 9,000
NEANEYE 248E X 20,000 20,000 0
307 2izto| A 20,000 20,000 0
02 It A X2 20,000 20,000 0]
ONEANE 243 H4F X 20,000
HNEANE SHIHLAMY 149,000 0 149,000
403 XX SHHSK20| & 149,000 0 149,000
01 XHHE2E =X 149,000 0 149,000
OFF WEXIAHAE SBSAIE &X 20,000
OF=F= 2FAZE OHAHOIE B4 35,000
OF=F SHZIAIE OHAOIE B 17,000
OFF= S H2AIE CCTV M & B4 18,000
OsF H=IeMI 208 AHOYH &X 15,000
OFF SHAIE ot 2HE & X 22,000
OFEF SHAIE oL 2tE A X 22,000
S0 MEAIE CHESIIALY 178,920 178,920 0
308 NXICSHHMSOIA 178,920 178,920 0




M ZHEHDY

=

Bu: (AR B
Ce: MEANE 243 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 IXHHNIMNEXS 178,920 178,920 0
Okl MSAIE CtESIIALE 178,920
NMUHXIXES g8 2t 6,081,180 2,460,353 3,620,827
= 5,400,481
o= 680,699
WLIX SHEE B3 6,081,180 2,460,353 3,620,827
= 5,400,481
== 680,699
IOl A XIAbRS (R ) 26,300 26,300 0
= 13,150
& 13,150
201 2yt 2 Y| 13,800 13,800 0
= 6,900
& 6,900
01 AR 2t2l ] 13,800 13,800 0
oudx&ds =8 11,000
= 5,500
= 5,500
OXNYHUHXNEAANY M2US 2,800
= 1,400
== 1,400
202 044 12,500 12,500 0
= 6,250
& 6,250
01 =2LH O HI 9,000 9,000 0
ol X2t LRFX 9,000
= 4,500
= 4,500
03 =ALR0b| 3,500 3,500 0
OXNYNHKEAASL AL AHASH 3,500
= 1,750
o= 1,750
KoK A (RIR) 1,657,850 1,660,850 A 3,000
= 1,657,850
308 X SHAMSOIA 26,850 31,850 A5,000
= 26,850
01 HXHHNIMNEXS 26,850 31,850 A5,000
ORI EeF XHEHED| A 16,000
= 16,000
OXNGNUXNEXAY M20S 5,850
= 5,850
O XI&ES JIsHIZ 5,000
= 5,000
403 XHXI SIS Xt =201 ® 1,631,000 1,629,000 2,000
= 1,631,000




= DN [RSEE
COHUXIRREC a2y &2
SoUX E3R B8

SA B ER(EN) - AR - BES of & o4 San HIDZ2

01 HXSHH =L E 1,631,000 1,629,000 2,000
OXSHUHX A XA 1,631,000
= 1,631,000

SAJIAZAL SSHIE &E S 30,000 30,000 0

207 ORI 30,000 30,000 0

01 22 EAH 30,000 30,000 0
OZAIAZAL SESHIS &8 89 30,000

dESEeY 781,429 0 781,429
= 547,000
S 234,429

401 AIEBI L 2 CHEI 781,429 0 781,429
= 547,000
S 234,429

01 A€ HI 776,503 0 776,503
OFAHE HHASE SHMY 776,503
= 543,552
= 232,951

03 Al 2 CHHI 4,926 0 4,926
OFLGHNE HH5s UMY 4,926
- 3,448
S 1,478

HASSEHAS(XE) 2,485,120 0 2,485,120
=2 2,202,000
S 283,120

403 AR SHHMS K201 H 2,485,120 0 2,485,120
2 2,202,000
< 283,120

01 HASHH =2 x 2,485,120 0 2,485,120
OFANE HEEs SHAL(AZ) 2,485,120
= 2,202,000
= 283,120

NUES(XALAHE) IIAANE HAX AL 830,481 743,203 87,278
= 830,481

403 TtXI M SA=01H 830,481 743,203 87,278
= 830,481

01 HXSHH =L 830,481 743,203 87,278
ONUS(MHERAANS) AL WL ALY 830,481
= 830,481

PG A MY B2 AY 270,000 0 270,000
= 150,000
= 120,000

402 DI2HRFEO0IA 270,000 0 270,000
= 150,000
== 120,000
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M FHEHY
M UXAELd a5 2el

g8 UX &3N3 EERE=E))
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2

01 Q1228 X 270,000 0 270,000
OLPG A8 HEEHT B2 ALY 270,000
= 150,000
== 120,000

HHSAAY (MY 94,962 101,115 A6, 153

Jl23dHl 94,962 101,115 A6, 153

Jl2&H| 94,962 101,115 A6, 153

201 et | 18,942 21,525 A 2,583

01 AP 22| H| 18,942 21,525 A2,583
OJl2x=2tl| 7,964
OJls2&l 10,978

202 04d| 41,580 47,250 N5,670

01 2Ll 41,580 47,250 N5,670
o220l 41,580

203 €2 F=&d| 27,840 27,840 0

01 JI22H Y FFEH| 6,600 6,600 0
OZdNsSa=& 6,600

04 EASHEIRFAH| 21,240 21,240 0
OZH & = 4,200
OJIZE KX Xt 4,440
O xtel &= 4,200
OO0l cH A It 4,200
O=2HMSAa 4,200

405 XHAHFEIEHI 6,600 4,500 2,100

01 JHAHY 2 Z 5 S H 6,600 4,500 2,100
OLES=S 1,500,000& = 1CH 1,500
o2 3,000,000 ~1CH 3,000
OMEE ZH A4 600,000& =1CH 600
oET=1=w] 1,500,000 = 1CH 1,500




